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&el: SSAI XIS (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
230l 19,792,228 17,858,060 1,934,168
= 68,317
[ 1,610,000
Jl 2,180,124
< 1,404,650
Al 14,529,137
= E 18,723,797 16,847,987 1,875,810
= 68,317
s 1,610,000
Il 2,180,124
= 978,650
Al 13,886,706
S2AIH K2 8,111,286 5,165,210 2,946,076
[ 1,500,000
Il 1,530,124
s 632,250
Al 4,448,912
SXLEsE 22 176,456 161,756 14,700
201 2= 7,0% 7,056 0
01 At22t2l] 6,000 6,000 0
O23sta 2eld 500,000 * 122 6,000
2 352484l 1,056 1,056 0
O=32=  HAl 1,056
-R01ZH 242 88,0002 122 1,056
307 @120l & 169,400 154,700 14,700
02 QB AHANEEX 59,400 54,700 4,700
OSEEsE MUESHl X
50,000,000& * 14! 50,000
OSELEsE 23etn 29
5,400,000 * 14 5,400
O=ZAIS et SLId I
4,000,000 *14] 4,000
03 PIAHHEE 22X 110,000 100,000 10,000
O=XZEsd 28EXs
110,000,000 * 14! 110,000
SEESME 29 2,582,790 2,493,6%4 89,136
202 04l 3,000 3,000 0
01 2LHoIH 3,000 3,000 0
OS2t 28 g2548 220
150,000 x2& %102 3,000
306 £ 2,519,790 2,490,654 89,136
01 Ed= 2,579,790 2,490,654 89,136
OSEENY ==
2,579,790,000& 14] 2,579,790
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ZHHIRH At 2,171,140 1,482,400 688,740
Jl 1,530,124
== 182,250
Al 458,766
201 =3 1,500 1,500
01 At22t2ltl 1,500 1,500
O2stsedte 88 1,500,000 *14] 1,500
301 EtE NS 2,169,640 1,482,400 687,240
Jl 1,530,124
[ 182,250
Al 457,266
01 AR 2EAHSHS(RNEXRTHE) 2,169,640 1,482,400 687,240
OSE230I1EA A (28t+2IPtE)
110,000&1%19, 724 2,169,640
Jl 1,530,124
< 182,250
Al 457,266
FSE Al AL 3,000,000 1,012,400 1,987,600
= 1,500,000
== 450,000
Al 1,050,000
201 2= 74,000 7,000 67,000
= 37,000
=S 11,100
Al 25,900
01 AtR2t2|HI 74,000 7,000 67,000
OS2 AIRIRE 3o B4 =E S
70,0002 * 102 *62] 4,200
= 2,100
= 630
Al 1,470
O23=Al dgdst E 22 S 69,800
gt 20 2%
5,000,000& 42| 20,000
= 10,000
< 3,000
Al 7,000
-2 Al 820t 2EE
2,000,000 %53 10,000
= 5,000
[ 1,500
Al 3,500
S5 22U ST S g2=3 X
9,900 *2,000HK 19,800
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 9,900
=S 2,970
Al 6,930
-E2 4 M 20,000,000 * 14! 20,000
= 10,000
= 3,000
Al 7,000
202 04| 3,600 2,400 1,200
= 1,800
= 540
Al 1,260
01 =LKL 3,600 2,400 1,200
OS2tz Al R 22/0H|
150,000 3 »83] 3,600
[ 1,800
= 540
Al 1,260
301 EtE NS 2,400 3,000 A600
[ 1,200
= 360
Al 840
11 EAAHIXIRES 2,400 3,000 2600
OS2t Al &8I A, /& S
120,000& x10E 23] 2,400
[ 1,200
= 360
Al 840
308 AtXIEMSOIE 2,120,000 0 2,120,000
[ 1,060,000
= 318,000
Al 742,000
11 S| 2S04 ASAIE 2,120,000 0 2,120,000
OSSEA ZLAI
2,120,000,000& *14] 2,120,000
[ 1,060,000
= 318,000
Al 742,000
401 Al HIZ S OHbI 800,000 0 800,000
[ 400,000
= 120,000
Al 280,000
01 Al&H| 800,000 0 800,000
O23t=Al 2at82t &4
800,000,000 » 14 800,000
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iy 400,000
T 120,000
Al 280,000
2SI 80,000 0 80,000
307 QIZ2t01 A 80,000 80,000
02 QIZHBAAIEER 80,000 80,000
OZWZ3HA K& 80,000,000 14! 80,000
M= AT 50,000 0 50,000
207 AN LI 50,000 50,000
01 A1 E9H| 50,000 50,000
OSHzAAL JI2HE APES
50,000,000 14| 50,000
==& =22 S 50,000 0 50,000
207 AR 50,000 50,000
01 H2=9| 50,000 50,000
O=g=% & R Bt24 4
50,000,000 14! 50,000
eA X N3] JNE| 900 900
202 0idl 900 900
01 =LHO4 b 900 900
OeAX= ZJ| BIXIOY 22 0b|
150,000 *2H *33| 900
SN == 1,952,220 2,470,460 A518,240
= 110,000
Al 1,842,220
ANEEM22H 132,400 340,000 A207,600
405 RHaHE=H| 132,400 340,000 A207,600
01 ML SEFHSHI 32,400 240,000 A207,600
OJleA3 2 8,100,000 »4CH 32,400
02 TSI 100,000 100,000 0
O=ZANEEMZ T2
100,000,000 * 14 100,000
ANEE A2 H2EAIRE AF 133,195 109,022 24,173
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Al 78,195
307 2I2+0l™ 133,19 109,022 24,173
= 55,000
Al 78,19%
02 QB AAIEER 133,19 109,022 24,173
OSZAZEZ M2 JH2EAIZE HE A
133,195,000 * 14 133,195
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401 Al HIZL 201 6,000 6,000
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01 TR ESFISHI 28,000 23,680 4,320
OSEHe 02 RAEAMEED] WHIF
= 28,000,000 * 14! 28,000
02 =AFbl 50,000 20,000 30,000
OSENH0I=A2 =AY
50,000,000& » 14 50,000
Sx JoA2 29 114,297 136,862 A21,565
101 @12A4H| 34,798 33,100 1,698
04 JIZtN22 XS 2+ 34,798 33,100 1,698
O80EANE 4 S Y 29,000
=] 76,9603 x1H 250! 19,240
=58 76,9603 18 x52& 4,002
~2HALH| 2,000%!#124+2502! 500
MEDB RS
116, 1002 x 12+ 122 1,3%
-SE S0l 200,000 x1H =23 400
-Re=g 115,440 +30& 3,464
O4i2E JI2RY= 3,198
-=UAHLEE 28,500,000 %3.545% 1,011
“AINQUYEE 1,011,0002%12.27% 125
-=0=3 28,500,000 4. 5% 1,283
-1ELE 28,500,000 *1.75% 49
~SEE 28,500,000 *0.982% 280
OJIZtMZ2Z2RtE 23 2,600,000& %1 2,600
201 et 3| 52,759 63,022 210,263
01 At22t2l] 21,162 26,738 Ab,576
Oget=ZH] 20,202
-ANRES H FAHIE 7Y
150,000 *43] 600
2HE M= 50,0002 12 600
- A RFIDER 2503 %1,0000H 250
-CDZ RFIDEHD 1,600 *4000H 640
-LI0IAID et ZeIRlE NMHIA o182 (14)
1,100,000 *14! 1,100
-SEECAZ EBHOIX 2215 +22(1H)
121,0002 %14 121
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-GoE2 I HeHl § 7Y
200,000 +83] 1,600
-2 82 "% AE
50,0002 +82] 400
-SAEX 23,0003 158 A 345
-d0Id=EeH EH 237,000& 42 948
-SJ|1E8)| dE=s
50,000 »2CH =128 1,200
=) gE= 25,0008 20+ 122 600
-RoBHIEY =22 150,000« 12& 1,800
M|t R 2
130,000& «12& 1,560
-S| |RA&e] =8
120,000& * 122 1,440
-S27| JIEM =8
250,000 %12 250
SEA A2F P2 100,000& «12& 1,200
-SAP &Y 150,000 43 600
“SHEFS 15,0002 x35* 122 540
-Hi0l A A Z2 08 2
36,0003 282 1,008
-=83 FAEAH| 200,000& 22 400
-0l0i EASSH| 3,000,000 14| 3,000
o=l 960
-GN HRFA S20HAHI
8,000 x5 2« 123 960
2 35244l 31,597 36,284 N4,687
O=32= # HAl 18,597
-2 1,200,000& 122 14,400
ot R= 100,000 * 12 1,200
-Hates & - 2=
220,000& * 122 2,640
-RER=s 4003 +402 * 122 192
- A2E 3 165,0002 %12 165
OAIZZEHl | 13,000
-TAUE dAEH |
8,000,000 * 14 8,000
-S0EAE Al RX2el 2=l
5,000,000& *14] 5,000
202 04dl 1,200 1,200
01 =LHNHI 1,200 1,200
OS0EANZ HRFI 22|04
150,000 x2& *43] 1,200
301 2= 15,540 15,540
14 JIEt2 8= 15,540 15,540
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OSITZI8 29 AZH ZAH
70,0003 x2Z*1112] 15,540
405 KHoHFSHI 10,000 23,000 13,000
02 =&l 10,000 10,000 0
OS0EAMZ EAHI
10,000,000& * 14! 10,000
A2 A2E2d 844,758 787,901 56,857
201 2= 23,950 15,650 8,300
01 At22telt] 2,950 4,650 A1,700
OXSTHT UXLEZ AN (104) 2,750
~HH7el RN 55,000, 0002 *5% 2,750
ONSTHZ MR 88 248
200,000& %12 200
02 s3=gHl 21,000 11,000 10,000
OAIZ8ZHl |XId| 21,000
SHOC AR MAAAE ST E4H|
6,000,000 14| 6,000
S22 A Al RAl2c] 24l
15,000,000 * 14 15,000
301 EtE NS 650,988 621,491 29,497
14 0Bt 2as 650,988 621,491 29,497
OXF2T M2 2telXt Q12| 513,755
-JlZ2s 2,010,580 x 19« 12 458,413
-2tAH| 2,0003 x 192 +250 9,500
-2 S0l 1,206,350 x 19 <22 45,842
O4i2E JI22E= 56,539
-AL 2 504,255,000 +3.545% 17,876
-AIRYEE 17,876,0002 *12.27% 2,1%
-=2H3 504,255,000 *4. 5% 22,692
-UEEEE 504,255,000 *1.75% 8,825
“MHEEE 504,255,000 +0.982% 4,952
Ozelkt &&= 2,400,000 19 45,600
OFSAESAA =€
9,620 x16AI2H+ 198123 35,094
307 @20l & 131,320 126,760 4,560
02 QIHEHAIEE X 131,320 126,760 4,560
OX2 A2 243t At 131,320
-AE2EMZ 23] X (19HA) 131,320
L2 )SHA =&
160,000 x19E « 12 36,480
CNZ U= (SS0l)
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~SEARSTHB YiLt)| Pl
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OXETM2 SATY(19H2)
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201 er=2 3| 337,410 337,410
01 AtR2t2|HI 185,888 185,888
Oer+gH| 2 177,168
TR, 2D 2Y ASBE
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“FULCHB 28 421 2 79
1,000,000& * 12& 12,000
SIS (428) 10,0002 x 425+ 122 5,040
-AI2(135) 15,00021%13%+ 122 2,340
Uxg =8| A2
220,000 «2CH« 12 5,280
-SAD| U4 150,000 *62] 900
-SAP EE 330,000 *23] 660
-SAEX 23,0002 158t A% 123 4,140
-¥40| dgE 40,0002 *40H x 12 1,920
I 20,0002 12CH+ 122 2,880
-BolyE)| wes
30,0002 «12CH* 122 4,320
-STHSYTHZ B BY
84,000,000 * 14! 84,000
-2 SS(XUDISEM S5 8)
500,000& * 122 6,000
=Y 4 89 500,000 x22] 1,000
“ENEY A= 1,000,000 *42] 4,000
“EI|OHE R a2 200,0002! * 122! 2,400
gl BY a4
280,000& * 122 3,360
—A A OHE 9| 48,0002 *12] 48
53| 88 === 140,000 ~ 128 1,680
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TN A ERSE(0|EE, ATH)
= 10,0002 *1,0007H 10,000
-TA2 EEE 22U S A
1,000& +5635+1,0000H 5,000
-ENE EEE Y 50,0002 *507H 2,500
—=EZ Y 28 A28 FY
250,000 =122 3,000
== &3 & Mx &Y
1,000,000& *42] 4,000
-HiolelA #al 2 e 1Y
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@=] 8,000 x5 *102x 12 4,800
Oo2g+d 3,920
“EA2 AR =g
70,0002« 1233 2,520
TAMESIRS S
70,000 10 #22 1,400
02 324l 118,522 118,522
O332= & HAl 81,240
-3 1,500,000& « 122 18,000
A3 3,500,000& « 128 42,000
ot R= 600,000& = 128 7,200
-RLERS 200,000& * 128 2,400
OB HRBY ABR
495,000& ~ 123 5,940
“THZR HBY ABR
320,000 123 3,840
-RUgs Uz 30,0003 * 12 360
-C A2 B3l 1,500,000 14 1,500
OAEZ IS X 37,282
“EA2 2el2EAIAE 95 Rl 2l
797,038,630 #8%+0.54 31,882
RFID & SAZeIAMAE |X 2=
1,200,000 x2& 2,400
-FHZEAM2 EHO0IX |XI 2=
250,000 128 3,000
03 A2 I 33,000 33,000
O=AM2t &AL 24 32,000
“EAZ O 018 A 29
10,000,000 10,000
-23F U= ¢ A 8L
1,000,000 122 12,000
SEAT FR(4E) BA 2
5,000,000 14! 5,000
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5,000,000& 14 5,000
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202 04| 2,400 2,400
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O=A2 U2 2204H]
150,000& 4 & *42] 2,400
301 EtE NS 36,565 36,565
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OFSAESAA =€
9,620 6 *x32A| 2+ 123 22,165
O=zxz 8 248 UM =4
120,000 x2& *602] 14,400
405 AHAHE S 134,000 134,000
02 A bl 134,000 134,000
O&AM bl 134,000
-SELHSE NS A
100,000,000 *14] 100,000
-NANE HBI2UHEAMEIA X
17,0002 %2,000% 34,000
SEHSE DM OH2AIZ 2 F 133,195 0 133,195
= 55,000
Al 78,195
101 @124H| 133,195 0 133,195
= 55,000
Al 78,195
MU IIRINZZE2NSES 133,195 0 133,195
oJlzs 2,010,580 4«12 96,508
[ 48,254
Al 48,254
OAES JI2RES 13,492,000 * 14! 13,492
[ 6,746
Al 6,746
OfE¥gE, s€2% =<
23,195,000& » 14 23,195
Exd=gs Nd 8,249,449 8,779,362 /529,913
= 68,317
Jl 650,000
== 346,400
Al 7,184,732
AE0=EH 24| 3,567,626 3,310,846 256,780
301 2eEN= 3,567,626 3,310,846 256,780
Rzt - 2SFS2Eds 3,567,626 3,310,846 256,780
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OA ekttt 1,637,052
DN 47,3%
Jl2sg 3,179,820 x 1B+ 12& 38,158
lls==g 656,000& x 1+ 123 7,872
A Y 113,600& *1Hx 122 1,364
R 23,34
JlE2sg 1,484,600& 1+ 122 17,816
Ols==g 385, 7003 x 1Y+ 123 4,629
SRS ES = 75,7003 *1H 123 909
—& YA 177,212
dlEsg 1,393,040« 12& 133,732
COls==g 377,2003x8H + 123 36,212
SRS ES = 75,7003 «8H 123 7,268
—& Y XA 131,548
2 1,393,040 <6« 12& 100,299
=" 377,2003x6H x 122 27,159
S P 56,8003 6« 12& 4,090
—AEHR 807,231
g 1,393,040 +38H« 12& 635,227
Ols=g 377,200 x38H 122 172,004
g 925,230,000& *4/12 308,410
-BEFIHI 925,230,000 *50%+*2/ 12 77,103
—FUZ A 100,0002 x54H 123 64,800
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2 3,045,000 x 1B+ 122 36,540
s 398,300 x 15+ 123 4,780
A Y 113,600& x1Hx 122 1,364
—CHRE 21,353
JlE2sg 1,329, 7203 x 18+ 12& 15,957
lls==g 373,003 x1Hx 123 4,487
ALY 75,7003 *1H 123 909
—& YA 1,817
S 75,7003 =2+ 12& 1,817
—a AR 338,969
JlEgsg 1,093,370&+20F « 12& 262,409
s 319,000& x20H 123 76,560
|2 341,146,320&*4/12 113,716
-BEZFIHI 341,146,320 & *50%+2/ 12 28,429
~HAUSAY| 10,0002 x2424 » 122! 28,800
OAgR=Es 270,866
-0t Xt 39,613
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M 2s0l=1
B 2s0sEE
el Etoizgs N (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
03223 % MHZ2 6.600
~HE23 U AHY ABE
50,0002 +8CH* 12 4,800
-HIes 150,000& x 104 2=+ 123 1,800
202 04| 3,600 3,600
01 =LHO LI 3,600 3,600
O/\Ia'01| cf FSAH & =AM 2IES
S 2204 150,000 #4 & *63] 3,600
301 EtE N = 444,100 369,100 75,000
Rzt - 2SFESEHS 444,100 369,100 75,000
OAl2l makorch 156,000
- 16,000, 000& *33] 48,000
-SEAFY 70,000
=4 I8 SEAFT
20,000,000& *13] 20,000
2074 018 ST (HS)
50,000,000& *12] 50,000
AT (et U2 M E)
20,000,000& *13] 20,000
-S2= & S gAE3Y
18,000,000& » 14 18,000
OAlEEE 47,000
-3J|sA 10,000,000& »23] 20,000
-Jlelse 7,000,000 12} 7,000
-SE st 10,000,000 *13] 10,000
-S2= & S A= 3
10,000,000 * 14 10,000
OANEFESH 43,000
-gJ18¢ 18,000,000& *13] 18,000
-J|8lsd 15,000,000 *13] 15,000
-S2= & S AE3
10,000,000 * 14 10,000
OANEaH=H 37,000
-g3J18¢ 10,000,000& »23] 20,000
-2023H B RSESY HAEE &t
10,000,000& * 13} 10,000
-E2= N& S dA=2gY|
7,000,000 *14] 7,000
OAgagadgsEH 67,100
-gJ18¢ 10,000,000 *13] 10,000
-H=gEM O 10,000,000& * 13} 10,000
pani=ts] 2,0002 *552 %1802 19,800
—2tAHI(Y, 25) 4,0002 x552 *902] 19,800
-E22 & S gA23
7,500,000 * 14 7,500




M 2s0l=1
M Btli=ds
tel: Sti=gs X (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OAg=ore 55,000
oAy 2ES| Y Rool 2B
25,000,000& *12] 25,000
-tE 2o IAUEH
20,000,000& *13] 20,000
-E2= & S A=Y
10,000,000& » 14 10,000
OAlgl=E 0Pt tils3H
39,000,000 *14] 39,000
401 AIEHIZ SR THYI 55,000 23,000 32,000
01 Al 55,000 23,000 32,000
ONYREAE sl #F B4
55,000,000& *14{ 55,000
405 AHaHE = 19,850 26,050 26,200
01 It =S F = 19,850 26,050 26,200
O =ENCENE SIS, 5,000
“MUAOIM HIE & =8I
5,000,000 1CH 5,000
OAgetat 5,200
-t 4,000,000 *1CH 4,000
=2 600,000 *2CH 1,200
OANERSH 5,250
—deED] 3,000,000 *1CH 3,000
=2 600,000 «3CH 1,800
-], FEERA 450,000 *14] 450
OAE=E 2,400
-HEDI0kS 2EU 300,000 *4CH 1,200
-2l 0lsA &A 60,0002 *10H 600
-M&I(REd) 600,000 1CH 600
OAlgnlgrottt 2,000
-2 H=E FARY 2,000,000 «1CH 2,000
St (=HZ0F) M=2A R 136,634 136,634 0
= 68,317
Al 68,317
307 212+01& 136,634 136,634 0
= 68,317
Al 68,317
02 B HAHE L 136,634 136,634 0
O W Ml=2 AL XA (S 2=20F)
136,634,000 *14] 136,634
= 68,317
Al 68,317
2E SS0=AXIZ 987,070 708,220 278,850
201 ger=3| 2,900 2,900 0




M Zstollsnt
FH: 2lli=ds

tel: Sti=gs X (SH9 H2)
2 IE
RA - B - SASH) - MSALY - ol &t e HIDS
01 AlR2telHl 2,900 2,900 0
OS5 Stti=aA & dole 48 ME 2,900

100,000& 15«12/ 1,500
-SSHAL Al S22 M
100,000 * 107K 1,000
—ZtAL Alet SAEEX & AT
4,000 100K 400
202 04| 2,400 2,400
01 =LHOHI 2,400 2,400
AES2H0=TAMFE X SLEES 220
] 50,0003 x4 *42] 2,400
301 Et2E = 3,520 3,520
11 HAIMHIXI RS 3,520 3,520
O2steiAl M=Ha| HAAE Al
8,0002

0003 20+ 10JH S Al 1,600
|

8,000& 20 +22 320
Oll=AL M= HAAHE Al
8,000 20 100K =4 K| 1,600
307 212t01& 978,250 696,700 281,550
02 QIIHAANSEE R 933,250 661,300 271,950
OHMi162l st=A3st 2 HMuNFH
17,000,000 *14] 17,000
ONi2al /IZEE ABItA
3,000,000 *14] 3,000
Oot2LIDE s2= &2 A3l
2,000,000 %14 2,000
O&gANIt Hestgtunzd 'St 013
o 6,000,000 * 14! 6,000
OHMI73] 22|02 EHOLEHI O AHIZ (KOMAS)
18,000,000 x 14 18,000
ONiesal S0i=H izl
9,000,000 * 14 9,000
02023 =& 71323 i3l
45,000,000 *14] 45,000
OXgOI=ltgsl dgXlsld &g’
2,000,000 %14 2,000
OSEALL SHots ==, ME 25D
1,000,000 *14] 1,000
OS2tz Al X! Zel g3 etitg
1,500,000 *14] 1,500
Ot S HAHAEY JHz
4,000,000 * 14 4,000
O&0l A= FESH =
4,000,000 * 14 4,000

ON18al 2S0IHLEE=R2EZ AU
16,000,000 » 14 16,000




M 2s0l=1
33 230=8sE
tel: Sti=gs X (Ete &
. = SIE]
SA - B - SA(SH) - MRA - BAS ol &t e HIDS
OAclZstti=gal dIl=ad & 3¢
3,000,000 14| 3,000
ONELEREIPCINEEY=
1,000,000 *14] 1,000
O=2zt A= SHE =
2,000,000 *14] 2,000
O=sxa=3-dFdllsg Usd
3,000,000 14| 3,000
OLeIg&zdUs FIHFEHD)
500,000 *14] 500
O3 Als FIHSEHLSTHH)
500,000 *14] 500
OSZO&EIL FIISIAH
3,000,000 14| 3,000
ON28al sSxddedt 3J|sd
1,800,000 *14] 1,800
O10008t A= st WSIIF 2H2ME
1,000,000 *14] 1,000
OLIAIOIZ B QAHAE} I3
3,600,000 14| 3,600
ORNI15al etel=g=s0l=id
66,000,000 * 14! 66,000
Ool2dls gt 234 Al
1,350,000 14| 1,350
OZZ2Lt =5 fgt A= & &84
1,000,000 14| 1,000
ORMIgel eldlts WSS & d=T187]
clIItHal 2,000,0002 %14 2,000
ONgal tietel= EatMuItA
2,000,000 *14] 2,000
OA1N0HY HEHA 2,500,000 *14] 2,500
032 ZME 1,000,0002 %14 1,000
OXoHelt &Mots HAZEA
2,000,0002 *14] 2,000
Q2023 PAR 0l=0] LISO0l LI
2,000,000 14| 2,000
OS X MBC = JRM i
70,000,000 *14] 70,000
OHMI15al 2tH0IEE A DAL
2,700,000 *14] 2,700
O] etote izl
3,600,000 14| 3,600
OSESoEs FIIAFS
1,000,000 14| 1,000
Oostds<tal A 1,500,0002 %14 1,500
ON212l dd SMll=2stunsFd '0IS02
S 4,000,000 *14] 4,000
ON632l SZol=H IH=l
20,000,000 x 14 20,000




SN 2sts
M 2502 xE
ol 230=ES X

2 ~ SIE]
SA - HY - S9I(3) - HIRAY - BAS Ofl & e

Odlig0ls4Estote 1,500,000 14| 1,500
Ox0bte =3¢ 5,000,000 14| 5,000
Olt=xle ==0 |X2g

2,000,000 %14 2,000
O==S20A 2R

1,500,000 14| 1,500
O=Z-3%F tlzu=d

8,000,000 14| 8,000
OugsZo E(Hs)F28A SA43

10,000,000 * 14} 10,000
O2F=E tl=2 &I10d

6,000,000 *14] 6,000
OS2 AHQIA TH0|E

1,000,000 14| 1,000
OSEAL =chXg 6,000,000 *14] 6,000
ORM413l SZA=SM &t

2,200,000 14| 2,200
ON412l =AM &t

3,300,000 14| 3,300
ON63zl SESUHA=ZAWUS &It

2,200,000 %14 2,200
ORNI3el dgdAEHASH It

3,000,000 14| 3,000
OHM27al SENEH(SHLRH)

1,000,000 14| 1,000
ORM228| d=stMMUSZ202] W=

4,500,000 *14] 4,500
O&= st HICIAHE 2

10,000,000 * 14 10,000
O22tEAl S2-ZE s

2,000,000 14| 2,000
O=Z1sd E30l=H

20,000,000 *14] 20,000
OSE-g= 0l=uFd 2 Aot

6,500,000 *14] 6,500
ONMI52l meat AlQistd - ArS S

5,000,000 14| 5,000
ORNIZ72l Dl=elol & & AlatA

2,000,0002 %14 2,000
ONe3zl SEU=H 8= AU

7,000,000 +14] 7,000
ORssd 'sx & LI=0I

1,500,000 14| 1,500
ORMlzel &ctd® CHESIIR A

1,500,0002 %14 1,500
ORMl443 S==tHl 3,500,000 14| 3,500
OMIBel SEHM==A4FAHUS| izl

45,000,0003*14] 45,000




SN 2sts
M 2502 xE
ol 230=ES X

- i =
SA - B BR(S) - HRAY - BAS o vy e
OXNigel Ealsdd=aLSH AU
8,000,000& 14! 8,000
OHSSAIIE 4,000,000 *14] 4,000
O2sfti=2s ¥ 2S 2& dAsl 4K
& 200,000,000 *14] 200,000
O28E ==0ls 8SA2 HI2LD|
2,000,000 %14 2,000
Sctda I8¢ 1,500,000 %14 1,500
02023 SZZESA3 4,000,000 14! 4,000
ONI108] =& Hol, Ha =moter:
8,000,000& =14l 8,000
O20238 A EHHIAEIH 7,000,000 *14] 7,000
OSZHSHUASH
10,000,000 * 14! 10,000
OJHE2 0l SZAI2N Siiol=s EEls
o3 8,000,000& 14! 8,000
OAI2t ehot fel &0I%ICH
2,000,000 %14 2,000
OLctRRIIZ A=t Scte & 2AE
1,000,000 %14 1,000
OZ O Mt 238243
2,000,000 *14] 2,000
O2023=0t=ELAE UM
5,000,000 14! 5,000
O2028sHetetnFH 3,000,000 %14 3,000
OZZoi20I=2 28 (M8lEl SL3IAN)
10,000,000 * 14! 10,000
ONIB3sl SZOUl=H stl=tHHUS
2,000,000 %14 2,000
O¥ot2d 2HAEY HIIEH
7,000,000 *14! 7,000
Odtgds ZE= =02 323
4,000,000& =14l 4,000
ORss H=0tg =AM
4,000,000 14! 4,000
Otz EZ23| x|
7,000,000 *14] 7,000
O=sgE=H 7,000,000 14! 7,000
02023 0|HHE MIEZEIR FAUS
70,000,000 *14] 70,000
oges SE=s=M
4,000,000 14! 4,000
OXlEs HZUSO0 =N & 2823
5,000,000& *14] 5,000
O0tE=22023 5,000,000 14! 5.000
OHM3zEl olg EZ2E It
5,000,000& 14! 5,000




M Zstollsnt

M 2Hi=dE

tel: Sti=gs X (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Omel SO LFIC &)= U 92
zo 3,000,000 14! 3,000
Okctz Ol=2 'H0IE M
2,000,000 %14 2,000
Odt,Jeln 2 2 HILZ(EIIEAIE])
2,000,000& *14] 2,000
OFRILE +401 0igt 3|AX
2,000,000 %14 2,000
Oljgtll=4eIEHss 23 d
1,200,000& *14] 1,200
02023 S E3H=3HM KA
5,800,000 14 5,800
O'lts XgMd'ANXE Hetdls eS|
2,000,000 %14 2,000
OHMI0a =15 SEEtH
8,000,000 * 14 8,000
OM128l SZIAHSESM HA
15,000,000 * 14| 15,000
OMI143] &OIZE AFYA JHZ
3,000,000 *14] 3,000
OSERLSHAEAA 2,000,000 %14 2,000
03 LM EE2SHIEX 45,000 36,400 9,600
O=ZiS 2424l
45,000,000& *14] 45,000
cHs Ol=2 22l & 2 518,945 385,751 133,194
101 @124H| 44,701 42,7271 1,974
M OIRIMZZ2NSE S 44,701 4,727 1,974
OXEH=3¥ 2cl 8334 UfY 29,600
-Jl2s 76,9603 x 12 +250 19,240
=5xg 76,9603 18 x52 4,002
—2+AlH| 2,000 » 18250 500
MED PEay
116,100 x 12 * 12 1,39%4
-2 S0l 200,000 x12H =23 400
—uEEL=E 50,0002 x1& x 122 600
gLy 115, 44021 %124 +302 3,464
OJIZHNZ22X UHES JI2ARES 3,265
-=UALEES 29,100,000 %3.545% 1,032
AR = 1,032,000 %12.27% 127
-=0=3 29,100,000 4. 5% 1,310
-lIE2E= 29,100,000 *1.75% 510
“MHEE = 29,100,000 *0.982% 286
OJIZtMZ22 Tt &&=
2,600,000& %1 2,600
O&Slssd 4 5 AR
76,9603 x3H 10 *43] 9,236




SN SBHED
M Btli=ds
tel: Sti=gs X (St &)
L FE - SRAE) - MRAY - BES of v G o HIDE2
1 2et2dl 195,524 190,774 4,750
1 A2l 61,904 60,730 1,174
Odt+=ZH| 35,054
-SAHEX 23,0003 5 Ax 123 1,380
-SAD| Xtz 180,000 *1CH* 12 2,160
-SHE2E3 HIH| 300,000& %12 300
-E2= M 1,000& *1,500F+43] 6,000
A UHEZ (HsrE
800,000& *12] 800
=83 FAESAY| 3,000 +550m’ 1,650
MY ELH 2 7L
1,470 x1000H* 123 1,764
SEA A2F 2 300,000& * 122 3,600
AUOIR PR AR HALZ
500,000 * 122 6,000
-QIRUAAIE A= 200,000 22 400
SEOIA OB T a2
300,000& * 122 3,600
~RIHIOIE] FIIZA
300,000 *2CH*13] 600
-Z3tx FAH| 1,100,000& *22] 2,200
-d)| HER 40,0002 x2CH* 122 960
-SJ1EE)| dE=
35,000 »2CH =128 840
- gz 25,0008 401+ 122 1,200
-=J1, A0, =01 78
50,0002 x3& 62 900
=SFME AIEE R 700,000 *14] 700
ogxz 2,000
-HE 22 (RUSIE, B9 S &5)
500,000 42| 2,000
Obs ARNE D4 Y WYY
500,000& %108 5,000
o=zl 960
—Sg|HF 29X ST0HAY
8,000 2 +5& 12 960
Oll=2t AllE A & JIE At2lE HEH|
S 4,000,000& * 12| *50% 2,000
O=g+y 6,890
2PN FHLY
70,0008 x7H+33] 1,470
“SAIGH WS R MEZ208 A =
150,0002 x1& %102 1,500
FAIRETY AASIR S
100,000 *7& *43] 2,800




M 2s0l=1
M 20srE
tel: Sti=gs X (SH &)
S - EE - BRI(EH) - AIRAY - BAS of v G o HIDE2
IEIAIE (3t SHY) etdate| I2H
=g 70,0002 x4 +43] 1,120
OD0I=AIHI(OtEIAED])
10,000,000 * 14! 10,000
2 S22l 98,620 95,044 3,576
OZ32=ZAAl 67,294
-HIIMNE= 3,800,000& «12& 45,600
-dot=EMNEE 500,000& 12 6,000
SN RYS (A=)
450,000 123 5,400
-Se13Hl 292 352,000 * 122 4,224
-V 222 20,0002 12 240
-Le[HIOIE fIE2CIF=2
150,000 x2CH* 122 3,600
-dat & IHARS 60,0002 * 12 720
-RERS 1,100
apted 4003 +50021 42 800
- S|ed 2,5003 %102+ 12 300
SoIETVAlE 15,0003 =20~ 123 360
et pugal=-kels] 50,0002 %12 50
O&=3 28= 500,000 42| 2,000
(@feak=4] 576
-HI&E I Ha| 1,440 =400L*1CH 576
OAIE2EBI= X 28,750
-HAA HS AE |
25,0002 5007 *10% 1,250
-tE2S A€ =X
1,200,000 *307H*5% 1,800
-ds ME4Hl |RAH|
20,0003 #4507 +5% 450
-S0Y =Hidet AKX
120,000,000 * 141 %5% 6,000
-HlA2 &I ||
25,000,000 *1CH*5% 1,250
-gt2, 857 |FA2+4|
1,000,000 *5CH 5,000
“AYANE(AEFSEIL 7E)RA2L
i 3,000,000& *14] 3,000
- HSl=sd0lsd ASF A
4,000,000& *14] 4,000
B E(Ee2E, sSHAl) oAU R
Xl2elt| 1,500,000 *20H 2 3,000
DIEAIE (Hatd AZ ) FA22l|
3,000,000 *14] 3,000
03 ALY 35,000 35,000 0
O A=l 35,000




2A:

Zot0l=1

HE: 2o0LIE
tel: Sti=gs X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
-AIE8 Sd3t JI2IEAl AL
10,000,000& * 13l 10,000
-AISA A JI=IEA
10,000,000& *13] 10,000
-Ols2 2% &2 ==dAl
5,000,000& 12 5,000
D) LY IBHE SLIIHTA
10,000,000& * 13l 10,000
202 04dl 1,500 1,500
01 2L AL 1,500 1,500
Olls2t NE2st & E2ES 220H|
150,000 x2& +53] 1,500
206 M=H| 6,750 6,750
01 MHZH| 6.750 6,750
OAXIZ0l 10,0002 +50H 500
O&AIS &2 &E XXl
50,0002 *507K 2,500
OXAIGH Mg =288 Wil & 2 M2
2 1,000,0002+13] 1,000
OE22 MS oF)| ¥T 1
25,0002 +50H 1,250
OJANEE A2F (=) 242 95
) 50,0002 %105+13] 500
OTIINE MHPL(XED] 2 43)
1,000,0002 %12 1,000
301 22N = 18,000 18,000
14 J|Et2 43 18,000 18,000
OLAS0ls2 NASAHA U224 = 18,000
CHB0EE CAE AHIBAS
25,0002 x4 x 152 x 12 18,000
401 AIEHIX R0 161,000 56,000 105,000
01 A28l 161,000 56,000 105,000
OAIZH| 161,000
-OrA R0 QAHIQN Yo DE SA
11,000,000 * 14| 11,000
- S0 =S20ls2 JHAEIAL &
£ 150,000,000 *14] 150,000
405 KHoHFSH| 91,470 50,000 41,470
01 ML ESFSHI 91,470 50,000 41,470
OTAHSAL(&,5HE1)
25,000,000& =23 50,000
O=Sak Y 41,470,000 x14] 41,470
NeE3u=M XN(32) 140,000 120,000 20,000
= 60,000
Al 80,000
307 el2tol & 140,000 120,000 20,000




SN 2sts
M 2502 xE

tel: Sti=gs X (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 60,000
Al 80,000
04 QIZHHAMAIRH 2 & 140,000 120,000 20,000
ORNI232] SEMAOISHAEE
140,000,000 *14] 140,000
= 60,000
Al 80,000
SEM=E2 22 ¥ 2g 301,470 205,257 96,213
101 21AH| 31,612 27,229 4,383
M ORNZZ2NSE S 31,612 27,229 4,383
O=Eli=E2 M4 & 223H| U2 26,136
= 76,9602 x1H #2502 19,240
=s5=g 76,9603 x 1 »52 4,002
—2HA| 2,000 1 »250 500
—MEAS EME
116, 1002 x1&» 122 1,394
-EE=0Hl 200,000& 1 =22 400
“WSEX= 50,0002 x 1 x 12 600
OJIZHRIZZ2X AU EE D223 2,876
=UALEEE 25,636,000 *3.545% 909
-SSR 909,000 *12.27% 112
-=2ld=s 25,636,000 4. 5% 1,154
-I82EE 25,636,00021%1.75% 449
“MHEE = 25,636,000 *0.982% 252
OJINZ22 X &&=
2,600,000& x1H 2,600
201 er23| 69,258 68,928 330
01 At2tltl 31,978 31,648 330
Odgt==H| 30,442
-SAHEX 23,0003 58t A 63| 690
-SAD| 8X= 180,000 ~12& 2,160
-H=)| dE(ARY, Y, dA5d §)
25,000 x50 * 122 1,500
-S8Y 31880 dE=
150,000& * 12 1,800
224l HHEE U ===
800,000& 12 800
A2 3l 50,0002 %12 50
-Ag ordate] g% el
500,000& 122 6,000
-S| J1 ZAI 300,000& %12 300
-5 |X 2yl
180,000 *1CH* 122 2,160
FIINE BIIBA 24
800,000& %12 800




M 2s0l=1
M Btli=ds
tel: Sti=gs X (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
8D erdEte] 2% el
200,000 * 122 2,400
=Y FASHH| 750,000 x22| 1,500
2|2 HatAld A=H 200,000 *23] 400
-d3tx HAMH| 1,000,000& %12 1,000
SIEA A BE S 500,000& 122 6,000
-EYH 25 7Y 147024500 122 882
~SLUISEIR B2 HN
1,000 +2,000% 2,000
O= gl 1,536
-SE3% S20AlI
8,000 x2&+8 123 1,536
02 S3=gHl 37,280 37,280 0
Os&sk= € MA 27,280
-SeIAH| =2 200,000+ 122 2,400
-2 1,800,000& «12& 21,600
-doteERs 100,000& ~12& 1,200
-Hetes 50,0002 128 600
—SFNE RS = 350,000 x2 700
-RUYs= 15,0002« 10412 180
-RERS 50,000& * 122 600
OAlE &8I Xl 10,000
-FE0=E2 Ald 2K 224l
10,000,000& * 14! 10,000
202 04| 2,100 2,100
01 =LHOLI 2,100 2,100
Ollz=& S AlE 25t & 82 22/0iY
150,000& x2E*72] 2,100
206 MH=Hl 3,500 3,500
01 MZH| 3,500 3,500
Ods, 81, ZEEX Mg 28
2,000,000& %12 2,000
Osg, st Mz 7
1,500,0002 %12 1,500
401 Al HIZL 201 195,000 100,000 95,000
01 Al&HI 195,000 100,000 95,000
OREU=E2 S L5 SA
173,000,000 *14] 173,000
OFZU=E2 0F2 STHHZ QL AHC
gt~ DE S AL 22,000,000 * 14! 22,000
AE0l=2 28X 88,000 66,000 22,000
< 26,400
Al 61,600
307 lztol & 88,000 66,000 22,000
& 26,400




M 2s0l=1
M Btli=ds
tel: Sti=gs X (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 61,600
02 QA AAEE X 88,000 66,000 22,000
Odldllz=2 22X
22,000,000 *14! 22,000
== 6.600
Al 15,400
SECE R P
22,000,000& » 14 22,000
= 6,600
Al 15,400
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